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14.

16.

17.

18.

19.

20.

N e

When a water tar’ ull, it contains 4000 gallons. How many gallons does it contain when it is % full?
22. Tt took 25 minutes to drive from Andy’s home {0 a math contest in UBC. If the distance travelled was 20km, what
ﬁ\w Qoo e was the average speed of the drive in km/hr?
The ratio of red marbles to blue is 2:5. If there are 119 marbles, then how many more blue are there than red?

23. The angles of a triangle are in the ratio 2: 3: 4. 7\55» are the measures of the angles?

How many pounds of salt must be added to 75 pounds of 30% salt mixture to obtain a mixture that is 40% salt?

|
24. The length and the width of a rectangle are in ?m ratio 9: 7. If the perimeter is 256 ci, what are the dimensions of

the rectangle? !

James is carrying a 2L bottle that is 10% water and 90% juice. How many mL of water does he need to add to make
the mixture 50% water? ,

Sound travels at the rate of 1130 feet per second. How far away is a lightning strike is the sound of thunder 25. In the country of Cascadia, 10% of the people are rich, and 90% are poor. Between them, the rich own 90% of the
reaches you 7 seconds after you see the lightning flash? Assume the speed of light is infinite. Round your answer wealth and the poor own the remaining 10%. If “P” is the mean wealth of a poor person, and “R” is the mean
to the nearest tenth of a mile. wealth of a rich person, what is the value of P/R? Express your answer as a common fraction.

The ratio of girls to boys in a school dance is 5 to 4. If twenty boys and ten girls leave, the new ratio of girls to boys
willbe 3 to 2. How many students were in the dance originally?

26. There are two candles, one short and thick, the other tall and thin. They burn at different rates. The short, thick
candle burns for 120 minutes. Both candles were lit at the same time, and after 30 minutes they were both the
same height. After 30 additional minutes, the {(originally) tall candle was half the height of the (originally) short
candle. What is the total expected burn time, in minutes, of the (originally) tall candle?

An elevator can hold the weight of 8 adults or 12 children. How many children could ride on the elevator with 6

adulis?
27. The hill behind Antonio’s house is long and steep. He can walk down it at 4.5 km/hr, but he can walk up it at only
- Two cyclists start from the same place at 1:15 p.m. One travels north at 24 km/h and the other travels east at 32 1.5km/hr. If it takes him 6 hours to make the wozbn trip, what is the distance, in kilometers, from his house to the
km/h. At what time will they be 130 km apart? top of the hill?
27 27
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